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Write a C++ program to fit the probit model to data using maximum likelihood. Use the
optimizer nlopt in 1ibscl. The cumulative normal distribution function can be computed
using pnorm in 1ibscl.

This problem is harder than it appears. You are going to run into errors when you take
logs of the probit when you compute the log likelihood; you will have to find a way to deal
with them that does not cause nlopt to get the wrong answer. Also, the default tuning
parameters of nlopt probably will not work for this problem so you will have to experiment

until you find values that do work.



